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Unit 22 Probability diagrams

Answers
1.	Which of these tree diagrams are not correct. Explain why.
[image: ]

Tree diagrams b) and c) are not correct. Probability in each branch needs to add up to 1.

2	 For each of these questions draw a tree diagram showing all the possible results. 
a)	A biased coin lands on tail with probability of 0.3.
[bookmark: _GoBack][image: ]
b)	A spinner with blue and yellow sections is spun once. 
	The probability of landing on yellow is .
[image: ]

c)	A spinner with grey and orange sections is spun twice. 
	The probability of landing on orange is 0.45. 
[image: ]


3.	There are 1 red and 7 white balls in a bag. 
One ball is picked at random. 
The colour is noted and then replaced. 
Another ball is picked.
a)	Complete the tree diagram to show all the possible outcomes. 
[image: ]
[bookmark: _Hlk531761094]b)	Find the probability of picking up two white balls.	P(W, W) =  ×  =  

4.	The tree diagram shows the probability of Tom and John scoring a goal in a football match.
a)	Write the missing values in the diagram.
[image: ]

b)	Complete the sentence:
	The probability of Tom not scoring and John not scoring is 0.4 × 0.2 = 0.08



5.	Isabella chooses a pen from some black and green pens at random.
	The tree diagram shows the possible outcomes when she does this twice.
[image: ]
	Isabella thinks that probability of choosing different colour pens is 0.2 + 0.8 = 1
	Is she correct? Explain your answer.
No. 
The probability of picking up two different colour pens	= 0.2 × 0.8 + 0.8 × 0.2 
	= 0.16 + 0.16 = 0.32

6.	97 students sit the GCSE Foundation Exam.
58 girls sit the Higher paper.
80 of the students are boys. 43 boys sit the Foundation paper.
a)	Use this information to complete the frequency tree
[image: ]
       b) One of the people who sits the Higher paper is chosen at random.
	Write down the probability that this person is a girl. 


7.	A fair coin is thrown twice.
a)	Draw a tree diagram to show the possible outcomes.
[image: ]

b)	Work out the probability of throwing; 
i)	two heads
[bookmark: _Hlk16757411]P(H, H) =  × = 
ii)	two tails
P(T, T) =  × = 
  iii) both throws giving the same outcome
P(both tosses the same)	= P(H,H) + P(T, T) 
[bookmark: _Hlk534603185]	=  + 
P(both tosses the same) =  
1
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